02 Suction Cup

Flat Cup

PF._

dn) uonong

RoHS®

dng 1el4

1)

Suction Cup
PA
PB
PC
PCD

PD (Standard flat type cup. For workpieces with smooth and even surfaces !)

PFO
PH

PJ
CORE

PK2
PK2B

PK2L Cardboard Metal plate Plastic plate

PL

PN
( Wide range of cup sizes. )

PN-B

E | 1 101:5] 02 [635 65 | 66 08 [610]615]020] 025
. Gl 530[ 535040 550 | 950] 930 095 o120(6150]0200
- B 2¢ 20z 50

PW

RA - - - - - -

M ( Various fittings for many kinds of applications. )
™

277 | cCONVUM



PF

Suction Cup
PFG
Fitting
Type

Cup with compact
fixed fitting
PS-[-F

Cup with compact
fixed fitting
PS-[-M

Cup with fixed fitting
PFTK

Cup with fixed fitting
PFYK

Cup with
compact spring fitting
PSS

Cup with
spring fitting
NAPFTS

Cup with
spring fitting
NAPFYS

Cup with non-rotation
spring fitting
NAPFTH

Cup with non-rotation
spring fitting
NAPFYH

Setting screw

Cup size (mm)

¢1~200

Applicable cup size

(mm

¢ 1.5~50

¢ 1.5~50

¢ 1.5~50

¢ 60 ~ 95

¢ 1.5~50

¢ 60 ~ 200

¢15~15

¢15~8
¢ 10~15
¢ 20 ~ 50
¢ 60 ~95
¢ 120 ~ 200
¢15~8
¢ 10~15
¢ 20 ~ 50
¢ 60 ~ 95
¢ 120 ~ 200

¢ 1.5~15

¢ 20 ~ 50

¢15~15

¢ 20 ~ 50

¢ 1.5~50

Stroke
(mm)

N/A

N/A

N/A

N/A

3,5

3,6
3,10, 15
6, 15, 30
10, 30, 50

20,50

SN6
3, 10, 15
6, 15, 30

10, 30, 50
20, 50

3, 10, 15

6, 15, 30

3, 10, 15

Vacuum
port

Top

Top

Top

Side

Top

Top

Side

Top

Side

Piping + Connector

Female screw

Male screw

Barb

Female screw

Barb

Female screw

Male screw

Female screw
Push-in
Barb

Female screw

Female screw
Push-in
Barb

Female screw

Female screw
Push-in
Barb

Female screw
Push-in
Barb

P.279

Page

P.285

P.285

P.289

P.289

R295

P.297

P.297

P.303

P.303

P.503

Suction Cup Selection Guide “’ P.163

Flat Cup

dn) uonong

dang 1e|4

1)

Suction Cup
PA
PB
PC

PCD

PD

PFO
PH
PJ

CORE

PK2

PK2B

PK2L

PL
PN

PN-B

PP

PQ

278

PR
PU
PW
RA
SM
TN



EE Flat Cup

wn
c
o
[=]
o
5 How to Order
O
c
°
!
)
s PFG — 2A — N
C
’ ﬁD ?
DCup Size(mm) @Cup Rubber Material
Symbol Cup size Symbol | Cup size Symbol | Cup size Symbol Material
1 o1 Note2 5 @ 5 Note2 30 ¢ 30 N NBR (Nitrile rubber)
1.5A ¢ 1.5 6A ¢ 6 35 ¢ 35 S Silicone rubber
1.5 $ 1.5 Note2 6 ® 6 Notez 40 ¢ 40 U Urethane rubber
2A ¢ 2 8A ¢ 8 50 ¢ 50 F Fluorine rubber
2 ¢ 2 Note2 8 ® 8 Notez 60 ¢ 60 NE Conductive NBR (Nitrile rubber)
2X4A 2X4 Note1 10A ¢ 10 80 ¢ 80 SE Conductive silicone rubber
2X4 2.2X4.2 Notel2 10 @ 10 Notez 95 ¢ 95 ¥Please consult with us for other material.
PB 3.5A ¢ 3.5 15A ¢ 15 120 ¢ 120
PC 35 $35 nNowz 15 ®15 150 ¢ 150
PCD 3.5X7A| ¢ 3.5X7 Notel 20 ¢ 20 200 ¢ 200
PD 3.5X7 | ¢ 3.5X7 Note12  20B ¢ 20 Note1)Oval cup.
Note2) Sale of cup only.
m 5A 65 25 ¢ 25
PFO - - . -
o Cup Rubber Material Standard Specifications
PJ Symbol Material Ha(rs/nstiss i lElie t%mperature Color Volume resistivity "'
CORE N NBR(Nitrile rubber) 55 -26 ~120 Black -
PK2 5 Silicone rubber 55 -60 ~ 250 Translucent white -
PK2B U Urethane rubber 55 -20~75 Blue -
— B Fluorine rubber 70 -10~ 230 Black with white dot -
PK2L NE | Conductive NBR (Nitrile rubber) | 70 -26~120 Black with blue dot 102~10° Q-cm
PL SE Conductive silicone rubber 55 -60 ~ 250 Black with red dot 10°~10* Q-cm
Notel) Volume resistivity shows conductivity, resistance value is per cm®.
PN Note?2) It is the measured value of in our designated test piece.
PN-B
PP Applicable Rubber Material Table
PQ . Round type Oval type
Material Color Symbol
PR 1 [1.5AI15[2A| 2 35A135|5A| 5 [6A| 6 [8A| 8 [10A[ 10 |15A] 15|20 |20B| 25 | 30 | 35 | 40 | 50 | 60 | 80 | 95 |120|150(200| 2X4 |2KX4A|35X7|35KTA
NBR
PU (Nitrile Black (NI AN B AN 2K A AX AX AX AN 2K AX AX X AX AN A AX AKX AX MK AKX AKX A MK AKX BN K BK BN BN BN K BN J
rubber)
PW il Trans|
Sibbae | Transiucent! s (@@ |@ @@ @00 0 0 0 0o e oo e eeoeoeooeeeeeeooooe
RA
M urethane | gue | U @ |/@|@ @00 o0 o e eeeeeeeoeoeooeeeeoooeoseoe
TN

Fluorine Black with
AulsiaEr white dot SN A AKX BN AKX BN AN BN BK BN BN AKX BN AKX BN BX BN BN AKX BN AKX BN B BN B AKX BN AKX BN 2K BN BN MK BN J

Conductive
NER, | Blackwith | N (@@ |@ @ @ @0 00 e eeeeeeeeeeeeeeno00000eeee
rubber)

Conductive Black with

SE 0 @ ® ©® e e o o o6 oo oo oo e oo e e e e e o000l eeeeee

@ :In stock OMade to order x:None
*Please consult with us for other material.

279



Dimensions

PFG /Flat Cup

(mm)
PFG-1 PFG-1.5A PFG-1.5
o4 1.8
2122 @3 ’_ﬂ
2038 22 \
| | ‘
1 n ‘ | ‘
| g | 3
| - ) < ‘ N
‘ |
= ] | ,
L——Jm s |
S o1 215
215
PFG-2A PFG-2 PFG-3.5A
04 18 4.2
. 23 212 @3
-7 22
|
\ 1
. | a -
(o] - <
} ‘
|
I
(@2.5) e @12
@35
PFG-3.5 PFG-2X4A PFG-2x4
2.2 26 4
@15 o4 @2
"‘7 @26 )8 ‘®1.2
i |
| |
n ‘ 1 = = M 1
= Y | =
| n O ‘
| : NI — "
i | P 212 ] ‘
0 l 0 ‘
o ‘ 235 4 ° 42
(@4.1)
NEC
—_
Weight
(9)
. Applicable setting screw .
Model \ Material | N S U F | NE | SE o 2 Symbol Material
(Screw specifications)
PFG-1.5A 01]01/01]01]01 |01 |1N-ps-2A-M3 (Male M3X0.5) N NBR(Nitrile rubber)
PFG-2A 0.1 1 0.1 /0.1 ]0.1]|0.1]0.1T |TN-PS-2A-M3F (Female M3X0.5)
PFG-3.5A 011011011011 01071 |TN-PS-2A-M5 (Male M5X0.8) S Silicone rubber
TN-PS-2X4A-M3 (Male M3X0.5)

H U Urethane rubber
PFG-2X4A 020202030202 |1y ps.ox4A-M3F (Female M3X0.5) !
PFG-1 0.1/01]01|01|01]|0.1 - F Fluorine rubber
PFG-1.5 0.1]10.11]0.1]0.1|0.1|0.1 - NE Conductive NBR
PFG-2 01/01/01]01]0.1]01 - (Nitrile rubber)

- - Conductive
PFG-3.5 0.1/0.1]01(01]0.1]|0.1 SE silicone rubber
PFG-2X4 0.1]1011]01]0.1|0.1|0.1 -

*Please refer to P.503 for setting screw detailed specifications.

dn) uonong

dng 1e|4

1)

Suction Cup

PA

PB

PC
D
—
Pr

PFO

PH

PJ

CORE
2
PK2B
PKaL
e

PN
N
—

PQ

PR

PU

PW

RA

SM

™

280



EE Flat Cup

wn
C
O
[=7
o . .
3 Dimensions
Q (
5 mm)
- PFG-3.5X7A PFG-3.5X7 PFG-5A
Q
9
®) 26 7
C o4 @7.5
© <
@35, ©6
D26 28 ‘ ‘ 24
. | |
’_
2 ’_ ! ~ _’=] n o !
R — © I ’j < ~ ! 9
ooT/ 3 215 21
S @15 14
7 7 @5
) = ) -
PFG-5 PFG-6A PFG-6
PB @75
6 @5

i 226 ©4 226
PCD ‘ = ‘ :
L ~ — b

PK2B 24
- o4 @4
PK2L F )
o

PD I -
= : “ : | :
IS} : [N S i R :
PFO ) —JT
— @5 e @jz @6
L (@5.4) (@64)
PJ
CORE
- 285
PK2 o6 26
o7
\
[

< + &
S o
PN h | ~ gL 1A ‘ <
— ~ ,7J_'— < \ W]
PN-B T - 1 T
- 22 @2
PP B %) —
- 08 8 @10
PQ (284)
PR .
" Weight
PU
(@)
PW Applicable setting screw
— Model \ Material| N S| U F | NE | SE L 2 Symbol Material
RA (Screw specifications)
TN-PS-2X4A-M3 (Male M3XO0.5) -
M PFG-3.5X7A 02|02|02|03|02]|02 TN-PS-2X4A-M3F (Femnale M3X0.5) N NBR(Nitrile rubber)
™ PFG-5A 02(02|02|03|02]|02 s Silicone rubber
PFG-6A 0202 |02|03|02]| 0.2 TN-PS-10-M5 (Male M5X0.8)
PFG-SA 03103103]|04 /| 03] 03 TN-PS-10-M5 (Female M5X0.8) u Urethane rubber
PFG-10A 0404|0406 |04 |04 E Fluorine rubber
PFG-3.5X7 0.1/0.1]01{0.1|0.1|0.1 - NE Conductive NBR
PFG-5 01/01/01]01]01]0.1 - (Nitrile rubber)
- - Conductive
PFG-6 0.1]101]01/|01|01]0.1 SE silicone rubber
PFG-8 0.1/01]02|02]|02]|0.1 -

XPlease refer to P.503 for setting screw detailed specifications.

281



PF

PFG /Flat Cup

wn
c
o
[=A
. . o
Dimensions 3
(@)
(mm) S
PFG-10 PFG-15A -
211 29 o
(@)
246 - 96 £
04
| |
n ’— |
™M I (]
. ~ | -
21 ¢ | ~y £ |
@5.8 Q2
215
210
PFG-15 PFG-20 Suction Cup
212 15 oA
4.6 4.6 I
"7 PB
\ ! —_—
2 ] — \“ : ! B PC
N } < | R
7 o | i 2 PCD
3? . 2l & ‘ PD
\ \
215 | ©20 | PFO
PH
PFG-20B PFG-25 216 PJ
26
215 CORE
26 PK2
[‘7 s ‘ N -
| | PK2B
7 B ~ | —
~ ! < PK2L
| | 2 / ; PL
L | | PN
3£ ‘ ”’I \ I
\ ! PN-B
2108 L en PP
@20 @25 PQ
. PR
Weight
PU
(9)
Applicable setting screw PW
Model \ Material | N S U F | NE | SE o 2 Symbol Material
(Screw specifications) RA
PFG-10 05|05 |06 |08 06| 05| TN-PF-10-M5 (Male M5X0.8) N NBR(Nitrile rubber)
SM
TN-PS-10-M5 (Male M5X0.8)
PFG-15A 05105105708 05105 1y ps.10-M5F (Female M5X0.8) s Silicone rubber N
PFG-15 0.7 | 07| 0.7 1.1 0.7 | 0.7 | TN-PF-15-M5 (Male M5X08) U Urethane rubber
PFG-20 15/ 15|16 |24| 1.6 | 1.5 | TN-PF-20-M5 (Male M5X0.8)
PFG-20B 191920 30|20 19 F Fluorine rubber
TN-PF-25-M6 (Male M6X1.0) Conductive NBR
PFG-25 26|26|28|42|28]26 NE (Nitrile rubber)
*Please refer to P.503 for setting screw detailed specifications. Conductive
SE silicone rubber

282



dn) uonong

dng 1e|4

1))

Suction Cup

PA

PB

PC

PCD
PD
P |
PFO
CPH
PJ

CORE

PK2

PK2B
PK2L

PL
PN

PN-B

PP

PQ

PR
PU
PW
RA
SM
N

283

EE Flat Cup

Dimensions
(mm)
PFG-30 PFG-35
@21
214 26
D6
\ / —
/ - ~ |
~ R _‘ <
o —
* - |_ |
~[Z ™ |
! 211 |
" 229 et
@35
PFG-40 PFG-50
@27
@24
26 rﬁ
| |
— ~ / ‘
~ / | i | — .
L | = |
1
m] £ \ | L ‘ ]
o1 @20
@40 @50
PFG-60 PFG-80
Mi0X125 @125 M10X1.25 2123 "
wn H
] ~ N
n I 1
it —
= f | q_ K © g
mf— :
‘ 260 ‘
I 1
Weight
(9)
Model\Material| N | § | U | F | NE | sE | Applicable setting screw Symbol Material
(Screw specifications)
PFG-30 32|32 |34 |52|34| 32 N NBR(Nitrile rubber)
PFG-35 6.0 | 60 | 6.3 | 96 | 6.3 | 6.0 | TN-PF-25-M6 (Male M6X1.0)
Sili bb
PFG-40 75| 75| 79 [120] 79 | 75 S ficone rubber
TN-PF-50-M6 (Male M6X1.0) U Urethane rubber
PFG-50 8.9 189194 [143] 94 | 89 | 1\ PF-50-M8 (Male M8X1.25)
PFG-60 234|234 |24.1 315|241 |234 - F Fluorine rubber
PFG-80 51.0/51.0|524|67.2|524|51.0 - NE Conductive NBR
*Please refer to P.503 for setting screw detailed specifications. (Nitrile rubber)
SE Conductive
silicone rubber




PFG /Flat Cup

Dimensions
(mm)
PFG-95 PFG-120
@90
@56
4-087 PCD40
@20
12.
M10X1.25 ﬁ75 " Pt Rl 2
o
I = 1 1 o )
— ‘ \n
— /l ‘ \ﬂ |=\ g = ~y \ g g
\Q§ ! N - (o)
| 293 | 4014
@120
I 1
PFG-150 PFG-200
@105
4-@8.7
— < n
n — -
- 2 ] ‘ L
N a ] . 1 i 8
© ! — | " i ™
e m S |
o Pz |
‘ 4-014

@150

Weight
(9)
Model \ Material N S U F NE SE Symbol Material
PFG-95 84.6 84.6 86.7 109.6 86.7 84.6 N NBR(Nitrile rubber)
PFG-120 246.0 246.0 250.8 303.6 250.8 246.0
Sili bb
PFG-150 4750 | 4750 | 4847 | 5914 | 4847 | 4750 S ficone rubber
PFG-200 823.0 823.0 841.7 | 1046.8 | 841.7 823.0 U Urethane rubber
F Fluorine rubber
NE Conductive NBR (Nitrile rubber)
SE Conductive silicone rubber

dn) uonong

dng 1e|4

1)

Suction Cup

PA

PB

PC
D
—
PF

PFO
—

PJ

CORE
2
PK2B
PKaL
e

PN
NB
—

PQ

PR

PU

PW

RA

SM

™

284



m Cup with Compact Fixed Fitting

Male Screw Female Screw

dn) uonong

a
o
3
9]
c
©

Simple construction of the cup and the screw.

4 #1.5~10(PFG-CIA type only) h
Screw and the cup can be disassembled
Attach the cup
I directly to the screw I
Suction Cup Model number Cup Setting screw |Screw size Model number Cup Setting screw | Screw size
PA PS-1.5A-M-00 PFG-1.5A-00 PS-1.5A-F-CJ PFG-1.5A-0J
o8 PS-2A-M-0 PFG-2A-01 TN-PS-2A-M3 | M3X0.5 PS-2A-F-0J PFG-2A-0] TN-PS-2A-M3F | M3X0.5
PS-3.5A-M-[] PFG-3.5A-01 PS-3.5A-F-[] PFG-3.5A-01
PC PS-5A-M-0] PFG-5A-0] PS-5A-F-[] PFG-5A-C]
PCD PS-6A-M-[] PFG-6A-[] PS-6A-F-0J PFG-6A-01
TN-PS-10-M5 | M5X0.8 TN-PS-10-M5F | M5X0.8
PD PS-8A-M-[] PFG-8A-01 PS-8A-F-[J PFG-8A-01
PS-10A-M-[1 PFG-10A-0J PS-10A-F-C1 PFG-10A-0J
m PS-2X4A-M-C0 | PFG-2X4A-0J TIPS 2XAAM M3X PS-2X4A-F-[1 | PFG-2X4A-[]
PFO PS-35XTAMD| PFG35X7A | o 2XAMS | M3X05 PS-BBXTAF-L| PFG-35X7AL)| Vo 2XAAMSF] M3XO.5
PH - ~
PJ ( $15~50
CORE TP IsM TFeteRO
PK2 PS-20-M-[J Screw and the cup are fixed PS-20-F-[]
PS-25-M-[] PS-25-F-[]
PK28B B Screw and the cup B r—
PKOL _ps-3o0-mM0 R1/8 can not Rp1/8 depth 9 _ PS-30-F-0
PS-35-M-[] be disassembled PS-35-F-[]
PL PS-40-M-[J PS-40-F-[]
PN k PS-50-M-[] PS-50-F-[] j
PN-B *0in the table indicates the cup material.
PP
— How to Order
PQ
PR
PU PS - 2A - M - N
PW @ ?
[
_RA DCup Size(mm) @Screw Type @ Cup Rubber Material
SM 1.5A ¢ 1.5 10A ¢ 10 M  Male screw N NBR(Nitrile rubber)
TN 2A 62 15 615 F  Female screw S Silicone rubber
2X4A 2X4  Notel 20 ¢ 20 U Urethane rubber
3.5A ¢ 3.5 25 ¢ 25 F Fluorine rubber
3.56X7A 3.5X7 Notel 30 ¢ 30 NE Conductive NBR (Nitrile rubber)
5A ¢ 5 35 ¢ 35 SE Conductive silicone rubber
6A o6 40 ® 40 % Please consult with us for other material.

8A ¢ 8 50 ¢ 50
Note1)Oval cup.

285



PS /Cup with Compact Fixed Fitting

Dimensions
(mm)
PS-1.5A/2A/3.5A-M PS-2X4A/3.5X7A-M
N F e )
@ - Y — 1
T — A\ ‘ 7 A B
M3X0.5 I
M3X0.5 ‘ N
| o
| _“ .
Il
) )
> i
212
QA
b
N
@)} -
aXb
Model number A oo | e Model number A oo | ek
(9) (g)
PS-1.5A-M- 0 1.5 0.4 PS-2X4A-M- [J 2X4 0.5 :
PS-2A-M- [J 2 05 1 PS-3.5X7A-M- [J 3.5X7 0.8
PS-3.5A-M- [J 35 . %[0 in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.
%[ in the table indicates the cup material. % aXb indicates A size of oval cup.
% The weight value is when NBR (Nitrile rubber) selected.
PS-5A/6A/8A/10A-M PS-15/20/25/30/35/40/50-M
©) - () =
M5X0.8 - ‘
\ R1/8
wn
y ©
L ¥ m
(@]
> - H
22 @H
QA OA
Model number A B (o3 Y W((a;%ht Model number A B (o3 H Y w?;%ht
PS-5A-M- [J 5 PS-15-M-[J 15 22 8 19
145 | 6.5 0.8 2 8
PS-6A-M- [J 6 15 PS-20-M- [J 20 24 10 2.3
PS-8A-M- [J 8 15 7 1.2 . PS-25-M- [J 25 28 14
PS-10A-M- [ 10 155 | 75 1.5 PS-30-M- [J 29 26 12 3 12
%[ in the table indicates the cup material. PS-35-M- [J 35
% The weight value is when NBR (Nitrile rubber) selected. 28 14
PS-40-M- [ 40 35
PS-50-M- [ 50 29 15 4 4 17

*[Jin the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

dn) uonong

dng 1e|4

1)

Suction Cup
PA
PB
PC

D

—

PF
PFO
PH
P)
CORE
PK2
PK2B
PK2L
PL

PN
PN-B

—

o

——

PU
PW
RA
SM
™

286



dn) uonong

dn) 1e|4

PB

PC

PCD

PD

PFO

PH
PJ

CORE

PK2

PK2B
PK2L

PL
PN

PN-B

PP

PQ

PR
PU
PW
RA
SM
N

287

m Cup with Compact Fixed Fitting

Dimensions
(mm)
PS-1.5A/2A/3.5A-F PS-2X4A/3.5X7A-F
. /TN Y
- 7 G
‘ Y | 7 Y
‘ M3X05
M3X0.5 .
- i
N o |
: ©
un
- | =
k. ) o
=
T -
< L
> S - i
212 1.2
QA
©
Model number A Y W‘(’gh" Model number A Y W?;%ht
PS-1.5A-F- O 1.5 04 PS-2X4A-F- O 2X4 0.5 15
PS-2A-F-[J 2 ' 15 PS-3.5X7A-F- [ 35X7 | 08 '
PS-3.5A-F- ] 35 0.5 %[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.
%[ in the table indicates the cup material. % aXb indicates A size of oval cup.
3 The weight value is when NBR (Nitrile rubber) selected.
PS-5A/6A/8A/10A-F PS-15/20/25/30/35/40/50-F
_ e~
o 4 - =
7 >/
Rp1/8 depth 9
A . _ ‘ <
)
L] v b
v
> 2 >
Q2 QH
QA @A
Model number A B © Y W?;%ht Model number A B (o3 H Y W?;Sht
PS-5A-F- J 5 PS-15-F-J 15 22 8 2 1.9
145 | 6.5 0.8 9
PS-6A-F- [J 6 . PS-20-F- [J 20 24 10 2.3
PS-8A-F- [ 8 | 15 | 7 | 1.2 ' PS-25-F- ] 25 | 28 | 14
PS-10A-F-J 10 | 155 | 75 1.5 PS-30-F- [J 29 26 12 3 13
%[ in the table indicates the cup material. PS-35-F-[J 35
% The weight value is when NBR (Nitrile rubber) selected. PS-40-F- ] 20 28 14 35
PS-50-F- [J 50 29 15 4 4 18

*[J in the table indicates the cup material.
¥ The weight value is when NBR (Nitrile rubber) selected.



PF

PS /Cup with Compact Fixed Fitting

dn) uonong

dng 1e|4

1)

Suction Cup
PA
PB
PC
PCD
PD

PF
PFO

—
P)
CORE
PK2
PK2B
PK2L
PL
PN
PN-B

—

—

——

PU
PW
RA
SM
™

288



Ml {4 Cup with Fixed Fitting

dnp uonong

a
o
3
9]
c
T

Consisting of fitting, setting screw, suction cup.

4 $15~35 2X4'*e 35X7Ne N[ $5~10 h

With bracket
2-95.5

02 PS P *+ 3
Suction Cup
PA Attach the cup directly to the fitting Attach the cup directly to the fitting
\ NG )
PB Note) The cup is integrated to the fitting with adhesive
PC 4 $15~50 N ([ $60~200 A
PCD Screw the fitting directly to the cup
PD (¢ 100 can not be disassembled)
PFO
PH
PJ
$60~95: #®120 ~200:
CORE Screw the fitting directly Mounting by bolts
into t}]e female those are :-_rtt_ached
Attach the cup to the fitting with setting screw screw in the cup to the fitting
PK2
— \ J %
PK2B
PKaL How to Order
PL
PN PF T K — 2A — N
PB @ @ ©)
PP ® Vacuum Port———
PQ T Top Notel
PR Y Side
PU Notel) ¢1.5~¢95 only.
\
W @ Cup Size (mm) ® Cup Rubber Material
RA Symbol Cup size Symbol| Cup size  Symbol| Cup size Symbol Material
SM 1.5A ¢1.5 8A ¢8 40 ¢ 40 N NBR(Nitrile rubber)
TN 2A ¢2 10A ¢ 10 50 ¢50 S Silicone rubber
2X4 2.2X4.2 Notel 15 $15 60 $60 U Urethane rubber
3.5A ¢ 3.5 20 ¢20 80 ¢80 F Fluorine rubber
3.5X7 | 3.5X7 Notel 25 ¢25 95 ¢95 NE | Conductive NBR (Nitrile rubber)
5A ®5 30 ¢ 30 100 ¢ 100 M2 SE Conductive silicone rubber
6A »6 35 ®»35 120 »120 Note2 % Please consult with us for other material.
Notel) Oval cup. 150 ¢ 150 N2

Note2) Side port only. 200 $200 N2

289



PF

Combination Table

PFTK-YK /Cup with Fixed Fitting

Top Port
Model number Cup Setting screw Fitting Piping specifications
PFTK-1.5A- PFG-1.5A-
Attach the cup directly
PFTK-2A- [ PFG-2A- to the fitting PFTK-1.5A-K
PFTK-3.5A- [ PFG-3.5A- [ ¢ 4X2.5
PFTK-2X4- [ PFG-2X4- [ The cup are integrated PFTK-2X4-K
to the fitting with
PFTK-3.5X7- ] PFG-3.5X7- adhesive PFTK-3.5X7-K
PFTK-5A- ] PFG-5A- [
PFTK-6A- [J PFG-6A- [ Attach the cup directly PFTK-5A-K
PFTK-8A- [J PFG-8A- [ to the fitting Barb
ar
PFTK-10A- PFG-10A- [ PFTK-10A-K
PFTK-15- ] PFG-15- [ TN-PF-15-M5
PFTK-15-K
PFTK-20- [J PFG-20- [J TN-PF-20-M5 ¢ 6X4
PFTK-25- [J PFG-25- [
PFTK-30- [J PFG-30- [J
TN-PF-25-M6 PFTK-25-K
PFTK-35- [J PFG-35- [
PFTK-40- [ PFG-40- [J
PFTK-50- [ PFG-50- [J TN-PF-50-M8 PFTK-50-K
PFTK-60- [ PFG-60- [ o
Screw the fitting Rc1/8
PFTK-80- [ PFG-80- [J directly into the female PFTK-60-K (Fermale) -
screw in the cup
PFTK-95- ] PFG-95- [
*[Jin the table indicates the cup material.
Side Port
Model number Cup Setting screw Fitting Piping specifications
PFYK-1.5A- ] PFG-1.5A-
Attach the cup directly
PFYK-2A- [J PFG-2A- [ to the fitting PFYK-1.5A-K
PFYK-3.5A- [ PFG-3.5A- [ ¢ 4X2.5
PFYK-2X4- [ PFG-2X4- [ The cup are integrated | PFYK-2X4-K
to the fitting with
PFYK-3.5X7- [ PFG-3.5X7- adhesive PFYK-3.5X7-K
PFYK-5A- [] PFG-5A- [
PFYK-6A- [ PFG-6A- [ Attach the cup directly
e PFYK-5A-K
PFYK-8A- [J PFG-8A- [J to the fitting Bart
ar
PFYK-10A- [ PFG-10A-[J
PFYK-15- ] PFG-15- [ TN-PF-15-M5
PFYK-15-K
PFYK-20- [J PFG-20- [J TN-PF-20-M5 @ 6X4
PFYK-25- PFG-25- [
PFYK-30- PFG-30- [
TN-PF-25-M6 PFYK-25-K
PFYK-35- ] PFG-35- [
PFYK-40- PFG-40- [
PFYK-50- ] PFG-50- [ TN-PF-50-M8 PFYK-50-K
PFYK-60- ] PFG-60- [ -
Screw the fitting
PFYK-80- [J PFG-80- [ directly into the female| PFYK-60-K
screw in the cup
PFYK-95- ] PFG-95- [J
PFYK-100- [J Cup and fitting can not be disassembled (lsacrrlélse) -
PFYK-120- O PFG-120- 0O Mounting by bolts(4
pieces) those are
PFYK-150- [ PFG-150- ] attached to the PFYK-120-K
PFYK-200- [ PFG-200- [ fitting

*[Jin the table indicates the cup material.

dn) uonong

dng 1e|4

02

Suction Cup

PA
PB
PC

PCD

PD

PFO
PH
PJ

CORE

PK2

PK2B

PK2L

PL
PN

PN-B

PP

PQ

290

PR
PU
PW
RA
SM
TN



HA1€ 1.4 Cup with Fixed Fitting

w
c
(2}
=
o - -
3 Dimensions
£ (
5 mm)
- Top Port PFTK-1.5A/2A/3.5A Top Port PFTK-2X4/3.5X7
o
- _ -
o 2-@5.5 2-@5.5
< /7 /
© | |
© SO0 O —S01 =
T = ! | |
5[ 20 ‘10‘ 5[ 20 ‘10‘
T 1 T T 1 T
40 40
2.8
1.2
02 M5X0.5
Suction Cup g 3 i 7H
N o~
PA . i | © \ i i ]
PB or g >
PC v
PCD ©
- [ a—
PD JB]
PFO Model number| A Y W‘(*g;ht Model number | A B c Y W?g;ht
PH PFTK-1.5A- 1.5 0.4 PFTK-2X4- [ | 2.2X4.2| 24.7 1.7 0.5 8
PFTK-2A- [ 2 ’ 8 PFTK-3.5X7- 1| 3.5X7 25.5 25 0.8
P PFTK-3.5A-| 3.5 0.5 %[ in the table indicates the cup material.
CORE 307 in the table indicates the cup material. >< Tr;(e vyelght vaIuAe 1; whfn Nl]3R (Nitrile rubber) selected.
— % The weight value is when NBR (Nitrile rubber) selected. % aXb indicates A size of oval cup.
PK2
PK2B
PK2L
- Top Port PFTK-5A/6A/8A Top Port PFTK-10A
PL
PN @5 o5
PN-B 225 23 | 12H
PP
- M5X0.8
PQ
- M9X1.0 —
PR
PU 4 o v
. 10H - o) IV =
PW *\‘ — 4 A
RA |
SM s
 — ~
N 0 ‘ 210
Model number| A B (o3 Y W?;%ht Model number W?:Sht
PFTK-5A- [ 5 PFTK-10A-J 15
305| 65 | 0.8
PFTK-6A- [J 6 11 [ in the table indicates the cup material.
PFTK-8A- [ 8 31 7 1.2 % The weight value is when NBR (Nitrile rubber) selected.

291

* [ in the table indicates the cup material.

% The weight value is when NBR (Nitrile rubber) selected.



PF

PFTK-YK /Cup with Fixed Fitting

%)
c
3]
o
. . o)
Dimensions 5
(mm) 9
mm 5
Top Port PFTK-15/20 Top Port PFTK-25/30/35/40/50 -
)
O
c
°

@5 @5

| | @3 | @3
Msx0s | M5X08 ’«

M8X1.25

M10X1.5

1
o w0
3 N o @ 02
— Suction Cup
- 1 PA
| b . ﬂ PB
on I PC
PCD
PD
Model Weight Model Weight
number A B c Y (9) number A B ¢ Y z (9) PFO
PFTK-15-0| 15 41 8 1.9 20 PFTK-25- 1| 25 57 14 | 3.0 PH
PFTK-20- 1| 20 43 10 | 2.3 PFTK-30- 1| 29 55 12 | 20 MBX1.0 40
*[Jin the table indicates the cup material. PFTK-35-0| 35 57 14 3.0 ' PJ—
% The weight value is when NBR (Nitrile rubber) selected. PFTK-40-[1| 40 35 CORE
PFTK-50- 1| 50 58 15 | 4.0 |M8X1.25 50 W
[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected. PK2B
PK2L
Top Port PFTK-60/80/95 —
PL
PN
Rc1/8 PN-B
M16X1.5 pp
PP
PQ
Rl = PR
— — PU
M10X1.25 ‘ -~
‘ PW
. ,—'j RA
y ‘ ¢ SM
>—% [
! QA | TN
Model number A B C Y W?ig%ht
PFTK-60- [ 60 58.5 18.5 130
PFTK-80- [] 80 60.5 20.5 6.0 170
PFTK-95- [] 93 61 21 ' 220

*[Jin the table indicates the cup material.

¥ The weight value is when NBR (Nitrile rubber) selected.

292



HA1€1. 4 Cup with Fixed Fitting

2]
c
(2}
=4
o . .
3 Dimensions
(@]
% (mm)
- Side Port PFYK-1.5A/2A/3.5A Side Port PFYK-2X4/3.5X7
=
e} M3X0.5 depth 5
[
° M3X0.5 depth 5
® ~
N —
« ~ Q Q
IN =
Q S
Suction Cup
PA
PB
PC
PCD
PD Model number A Y W?L%ht Model number A B C Y W‘(e;%ht
m PFYK-1.5A- [ 15 |, PEYK2X4-0 | 22x42 |217]1.7] 05 |
PFYK-2A- [J 2 ' 3 PFYK-3.5X7- [ 3.6X7 |225| 25| 08
PFO PFYK-3.5A- O 3.5 0.5 [ in the table indicates the cup material.
o . ) ¥ The weight value is when NBR (Nitrile rubber) selected.
PH »*[Jin the table indicates the cup material. . A R
% The weight value is when NBR (Nitrile rubber) selected. % aXb indicates A size of oval cup.
PJ
CORE
PK2
PK2B Side Port PFYK-5A/6A/8A/10A Side Port PFYK-15/20
PK2L
@10 10
PL 6 _M4X07 depth 6 6| M4X0.7 depth 6
| T0H ‘

PN 1 / M5X0.8 / 10H

PN-B ’—
PP wl w| = :
- — 7 3
Q Q % g g -
PQ K\/\_/_t'T n
— = || § . T F
PR — ‘ o
PU |
PW M5X0.8 | U M5X0.8
RA §
I >
SM QA
TN
Model number| A B C Y W?sight Model number| A B (o3 Y W?(Bht
PFYK-5A- [J 5 29 65 08 PFYK-15-[] 15 30 8 1.9 20
PFYK-6A- [J 6 ' ' 16 PFYK-20- [J 20 32 10 2.3
PFYK-8A- [J 8 29.5 7 1.2 %[ in the table indicates the cup material.
PFYK-10A- [ 10 30 75 15 ¥ The weight value is when NBR (Nitrile rubber) selected.

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

293



Dimensions

PFTK-YK /Cup with Fixed Fitting

Side Port PFYK-25/30/35/40/50

@12

17 ‘ M6X1 depth 8

14H

/
I
o ﬂ/ )

o

@5
@3
20

32

Model Weight

number A B c Y r4 (9)
PFYK-25-[1| 25 | 46 | 14 | 3.0
PFYK-30-1| 29 | 44 | 12 | 20 40

M6XO0.1
PFYK-35- 1| 35 3.0
46 | 14 —

PFYK-40- 1| 40 35 50
PFYK-50-[1| 50 | 47 | 15 | 4.0 |(M8X1.25 55

*[Jin the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

Side Port PFYK-100
@86 M12X1.75 depth 18
222 )
Width across flat 19
23
Rc1/8
©
N "
(o))
o ] I -
210
@100
I |
2104
I |
Weight
Model number (9

PFYK-100- [ 140

* [ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

(mm)
Side Port PFYK-60/80/95
M8X1.25 depth 11
@17
Rc1/8
\ |
) ‘ 21H
% -
e S
\ |
_ | ,A‘, .
@5 |
M10X1.25 I
i | |
— @}
> !
| @A |
[ |
Model Weight
number A B c v (9)
PFYK-60-]| 60 58.5 185 5 120
PFYK-80-C1| 80 60.5 | 205 6.0 160
PFYK-95-[]| 93 61 21 ' 210
*[Jin the table indicates the cup material.
% The weight value is when NBR  (Nitrile rubber) selected.
Side Port PFYK-120/150/200
M16X2 depth 20
@64.5 —
i @30 Rc1/8
Width across flat 27
— /// <
N
4-M8X1.25 /—¢ ‘ / * o
i A
J/-qu_:UH ! e
-
P.C.D.40
QA
Model number| A B (o3 Y W?;%ht

PFYK-120-J | 120 74 24 6.0 640
PFYK-150- | 150 81 31 9.0 910
PFYK-200-0 | 200 86 36 13.0 1200

*[Jin the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

dn) uonong

dng 1e|4

1)

Suction Cup
PA
PB
PC

D

—

PF
PFO
PH
P)
CORE
PK2
PK2B
PK2L
PL

PN
PN-B

—

o

——

PU
PW
RA
SM
™

294



IE Cup with Compact Spring Fitting

295

% [in the table indicates the cup material.

wn
5 4 $1.5~15 R
[=]
o
=}
(@]
c
°
—
)
(@]
c
kel
Attach the cup directly to the fitting
Simple construction of the cup and the fitting  \_ )
How to Order
- PSS — S3 — PFG — 2A —
PC ’ @
p . .
P MStroke(mm) @Cup Size(mm) @Cup Rubber Material
PD Symbol | Length |Applicable cup size Symbol | Cup size Symbol Material
m S3 3 $1.5~3.5 1.5A 1.5 N NBR(Nitrile rubber)
PFO L3 3 $5~15 2A @2 S Silicone rubber
PH S5 5 ¢1.5~3.5 3.5A ¢3.5 U Urethane rubber
L5 5 $5~15 5A ¢5 E Fluorine rubber
P 6A $6 NE | Conductive NBR (Nitrile rubber)
CORE 8A ¢8 SE Conductive silicone rubber
PK2 10A ®10 %Please consult with us for other material.
— 15A @15
PK2B
PK2L
T Combination Table Spring Specifications
PN Male Screw
PN-B Model number Cup Fitting | Piping specifications Cup size Unit ¢1.5~15
pp PSS-S3-PFG-1.5A-[1 | PFG-1.5A-0] Stroke mm 3 5
— PSS-S3-PFG-2A-[] PFG-2A-[] PSS-S3 Spring load
PQ at O stroke N 15 | 162
PSS-S3-PFG-3.5A-[1 | PFG-3.5A-[]
ey _G5A- _EA- Spring load
PR PSS-L3-PFG-5A-[] PFG-5A-[] at full stroke N 2.3 3.2
PSS-L3-PFG-6A-[] -6A-
PU SS-L3-PFG-6 PFG-6A-D Tightening torque | N-m | 0.58~0.68
PSS-L3-PFG-8A-[J PFG-8A-[] PSS-L3
PW Due to structural reason, Mift-ups may occur in
PSS-L3-PFG-10A-[] PFG-10A-00 case vacuum pressure is more than -65kPa.
RA PSS-L3-PEG-15A-01 PFG-15A-C] T:;e weight of non Tlift-upy in horizontal lifting is
ME5X0.8 about over ZOOg. .
SM PSS-S5-PFG-1.5A- PFG-1.5A-1 (Male) Screw must be tightened in recommended
ale tightening torque, otherwise malfunction would
™ PSS-S5-PFG-2A-[] PFG-2A-[] PSS-S5 oceur.
PSS-S5-PFG-3.5A-[] | PFG-3.5A-[]
PSS-L5-PFG-5A-[] PFG-5A-0]
PSS-L5-PFG-6A-[] PFG-6A-[J
PSS-L5-PFG-8A-[] PFG-8A-[J PSS-L5
PSS-L5-PFG-10A-[1 | PFG-10A-0J
PSS-L5-PFG-15A-[1 | PFG-15A-J



PF

Dimensions

PSS /Cup with Compact Spring Fitting

%[ in the table indicates the cup material.

3 The weight value is when NBR (Nitrile
rubber) selected.

material.

¥ The weight value is when NBR (Nitrile

rubber) selected.

(mm)
PSS-S3-1.5A/2A/3.5A PSS-L3-5A/6A PSS-L3-8A/10A/15A
@% ) @ ©
M5X0.8 @38 233
: . M5X0.8 ﬂ*
| ©
\e) < i S
o) ! N
. =} ‘ = " 2 w
o N x] =
v — mf
" wn
2L ©
o | || oA
=3 T T
26.5
Model number A|C W?;g;ht Model number A W((e;g)ht Model number A|B|C|E|F W?;g;ht
PSS-S3-PFG-1.5A-[1| 1.5 04 PSS-L3-PFG-5A- | 5 6 PSS-L3-PFG-8A-J | 8 | 7 |1.2| 22|28 6
PSS-S3-PFG-2A- [ 2 ' 55 PSS-L3-PFG-6A-[1 | 6 PSS-L3-PFG-10A-[1| 10 |7.5|1.5|22.5(285 10
PSS-SS-PFG-35A- 035|105 [ in the table indicates the cup PSS-L3-PFG-1 bA-0O| 15 8 2 23 | 29

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

PSS-S5-1.5A/2A/3.5A PSS-L5-5A/6A PSS-L5-8A/10A/15A
@ - @& - @& -
M5X0.8  @3.8 M5X0.8 @38
M5X0.8 3.8
\ \e)
n |I !| © 2 J © 2 |
o I B ||
| 2 | .
" " g U ] | o |
S ™ Q B = | = xl m
Y 9l ™ I
L L n
wn - r [ L
' ) .
U ~ NIy © v %
[ee)
L en gl | e | en
6.5 6.5 26.5
Model number A|C W?;g;ht Model number A W((e;g)ht Model number A|B|C|E|F W?;g;ht
PSS-S5-PFG-1.5A-[1 | 1.5 04 PSS-L5-PFG-5A- | 5 7 PSS-L3-PFG-8A-1 | 8 | 7 [1.2|26 |32 7
PSS-S5-PFG-2A- [ 2 ' 6.5 PSS-L5-PFG-6A-[1 | 6 PSS-L3-PFG-10A-[1| 10 |7.5|1.5|26.5(32.5 1
PSS-S5-PFG-35A- 035|105 [ in the table indicates the cup PSS—L3'PFG-1 bA-0O| 15 8 2 27 | 33

%[ in the table indicates the cup material.

3 The weight value is when NBR (Nitrile
rubber) selected.

material.

% The weight value is when NBR (Nitrile

rubber) selected.

%[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

dn) uonong

dng 1e|4

1)

Suction Cup

PA

PB

PC
D
—
Pr

PFO

PH

PJ

CORE
2
PK2B
PKaL
e

PN
N
—

PQ

PR

PU

PW

RA

SM

™

296



dn) uonong

dng 1e|4

1

Suction Cup
PA
PB
PC
PCD
PD
P |
PFO
CPH
P)
CORE
PK2
PK2B

PK2L

PL
PN

PN-B

PP

PQ

PR
PU
PW
RA
SM
TN

297

L\ V4 AREA &Y Cup with Spring Fitting

Consisting of fitting, setting screw, suction cup.

¢1.5~15

-

Attach the cup
directly to the fitting

W

/

p

$20~50

Attach the cup
to the fitting with setting screw

W

p

$60~200

N

Screw the fitting directly
into the female screw in the cup

@120 ~ 200 Mounting by bolts
those are attached to the fitting

A A g

- -

How to Order

NAPF T S— 2A-3 — N — T
® @ ® ? |
d)Vacuum Port @Cup Size - Stroke(mm) @ Connector
T TP symbol| GRS symool) GRS symeal| QP s Bl WA__
- 1.5A-3| ¢1.5-3 20B-6 $20-6 60-10 | ¢60-10 0 | Push-in
1.5A-6| ¢1.5-6 20B-15| ¢20-15 60-30 | ¢60-30 @60 or more can not be
2A-3 ¢2-3 20B-30| ¢20-30 60-50 | ¢60-50 selected "T" and "0"
2A-6 ¢2-6 25-6 $25-6 80-10 | ¢80-10 .
35A3| 6353 2515 ¢2515 8030 ¢sos0 O Cup Rubber Material
3.5A-6| ¢3.5-6 25-30 | ¢25-30 80-50 | ¢80-50 Symbol Material
5A-3 ¢5-3 30-6 $30-6 95-10 | ¢95-10 N NBR(Nitrile rubber)
5A-6 $5-6 30-15 | ¢30-15 95-30 | ¢95-30 S Silicone rubber
6A-3 $6-3 30-30 | ¢30-30 95-50 | ¢95-50 u Urethane rubber
6A-6 $6-6 35-6 $35-6 120-20| ¢120-20 F Fluorine rubber
8A-3 »8-3 35-15 $35-15 120-50| ¢120-50 NE | Conductive NBR (Nitrile rubber)
8A-6 »8-6 35-30 | $35-30 150-20| ¢150-20 SE | Conductive silicone rubber
10A-3 ¢10-3 40-6 $40-6 150-50| ¢150-50 *Please consult with us for other material.
10A-10| ¢10-10 40-15 | ¢40-15 200-20| ¢200-20
10A-15| ¢10-15 40-30 | ¢40-30 200-50| #200-50
15A-3 ¢15-3 50-6 $50-6
15A-10, ¢15-10 50-15 | ¢50-15
15A-15 ¢15-15 50-30 | ¢50-30




PF

Spring Specifications

NAPFTS-YS /Cup with Spring Fitting

Cup size Unit | ¢1.5~8 $10, 15 $20~50 $60~95 $120~200
Stroke mm | 3 ‘ 6 | 3 ‘ 10|15 | 6 ‘ 15 | 30 | 10| 30 ] 50 | 20 | 50
Spring load at O stroke 0.49 0.61 0.64 2.45 29 | 882|676 |833| 156 | 147
Spring load at full stroke 0.59 ‘069 0.77 \ 117 3.43 \ 49 | 588|118 156 | 196 29.4
Combination Table
. Piping specifications
Model number Cup R Fitting Witho: g pBarb Push-in
screw connector ¢ Blank | connector+T | connector:0
NAPFOS-1.5A-3-0 (-T/0) | .., ., NAPFOS-1.5A-3-K (-T/O)
NAPFOS-1.5A-6-00 (-T/O) ' NAPFOS-1.5A-6-K (-T/O)
NAPFOS-2A-3-0 (-T/0) PEG.2AL] NAPFOS-1.5A-3-K (-T/0)
NAPFOS-2A-6-0] (-T/0) NAPFOS-1.5A-6-K (-T/O)
NAPFOS-3.5A-3-00 (T/0) | .. .., NAPFOS-1.5A-3-K (-T/O)
NAPFOS-3.5A-6-0] (-T/O) ‘ NAPFOS-1.5A-6-K (-T/O) M3X0.5 $4X2.5
NAPFOS-5A-3-0] (-T/0) N NAPFOS-5A-3-K (-T/O) (Female) :
NAPFOS-5A-6-0 (-T/0) NAPFOS-5A-6-K (-T/O)
NAPFOS-6A-3-0 (-T/0) PEG-BAL é‘ﬁ?gﬂé@ﬁy NAPFOS-5A-3-K (-T/0)
NAPFOS-6A-6-01 (-T/0) to the fitting | NAPFOS-5A-6-K (-T/O)
NAPFOS-8A-3-[0 (-T/0) PEG-8AL] NAPFOS-5A-3-K (-T/O)
NAPFOS-8A-6-0 (-T/0) NAPFOS-5A-6-K (-T/O)
NAPFOS-10A-3-00 (-T/0) NAPFOS-10A-3-K (-T/0)
NAPFOS-10A-10-00 (-T/O) | PFG-10A-OJ NAPFOS-10A-10-K (-T/0)
NAPFOS-10A-15-00 (-T/O) NAPFOS-10A-15-K (-T/O)
NAPFOS-15A-3-00 (-T/0) NAPFOS-10A-3-K (-T/0)
NAPFOS-15A-10-C] (-T/O) | PFG-15A-] NAPFOS-10A-10-K (-T/0)
NAPFOS-15A-15-00 (-T/O) NAPFOS-10A-15-K (-T/O)
NAPFOS-20B-6-0] (-T/0) NAPFOS-20B-6-K (-T/O)
NAPFOS-20B-15-0] (-T/0) | PFG-20B-[] NAPFOS-20B-15-K (-T/O)
NAPFOS-20B-30-0 (-T/0) NAPFOS-20B-30-K (-T/O)
NAPFOS-25-6-01 (-T/O) NAPFOS-20B-6-K (-T/O)
NAPFOS-25-15-0] (-T/0) | PFG-25-0 NAPFOS-20B-15-K (-T/O)
NAPFOS-25-30-[1 (-T/0) NAPFOS-20B-30-K (-T/O) M5X0.8
NAPFOS-30-6-C] (-T/O) NAPFOS-20B-6-K (-T/0) | (Female) ¢6X4
NAPFOS-30-15-0] (-T/O) | PFG-30-00 | TN-PF-25-M6 | NAPFOS-20B-15-K (-T/O)
NAPFOS-30-30-0J (-T/O) NAPFOS-20B-30-K (-T/O)
NAPFOS-35-6-01 (-T/0) NAPFOS-20B-6-K (-T/O)
NAPFOS-35-15-00 (-T/O) | PFG-35-0] NAPFOS-20B-15-K (-T/O)
NAPFOS-35-30-0] (-T/O) NAPFOS-20B-30-K (-T/O)
NAPFOS-40-6-C1 (-T/O) NAPFOS-20B-6-K (-T/O)
NAPFOS-40-15-0] (-T/O) | PFG-40-OJ NAPFOS-20B-15-K (-T/O)
NAPFOS-40-30-0J (-T/O) NAPFOS-20B-30-K (-T/O)
NAPFOS-50-6-C1 (-T/O) NAPFOS-20B-6-K (-T/O)
NAPFOS-50-15-C] (-T/O) | PFG-50-0] | TN-PF-50-M6 | NAPFOS-20B-15-K (-T/O)
NAPFOS-50-30-0] (-T/O) NAPFOS-20B-30-K (-T/O)
NAPFOS-60-10-C] NAPFOS-60-10-K
NAPFOS-60-30- PFG-60-[] NAPFOS-60-30-K
NAPFOS-60-50-] Screw NAPFOS-60-50-K
NAPFOS-80-10-[] :cjhe fi;cltin_gt NAPFOS-60-10-K Rel/8
NAPFOS-80-30-C] PFG-80-[] tr::ee?er)r/];?eo NAPFOS-60-30-K (Fecma/ile) -
NAPFOS-80-50-[1 screw in the NAPFOS-60-50-K
NAPFOS-95-10- cup NAPFOS-60-10-K
NAPFOS-95-30-[] PFG-95-[] NAPFOS-60-30-K
NAPFOS-95-50-] NAPFOS-60-50-K
NAPFOS-120-20-0 NAPFOS-120-20-K
NAPFOS-120-50-] PFG-120-11 ’g"y"“g‘gl'{‘sﬁ , | NAPFOS-120-50-K
NAPFOS-150-20-[] PEG-150-01 pieces) NAPFOS-120-20-K Rcl/4 B
NAPFOS-150-50-[1 tf;?sehzge © NAPFOS-120-50-K (Female)
NAPFOS-200-20-[] PEG.200.1 | the fitting . |_NAPFOS-120-20-K
NAPFOS-200-50-1 NAPFOS-120-50-K

% [in the table indicates the cup material.
3#QOin the table indicates the vacuum port (T or Y).
#The mounting torque of the H8 nut for NAPFOS-1.5A/5A-3/6-K (-T/O) should be 2.0N - m or less.

dn) uonong

dng 1e|4

02

Suction Cup

PA

PB

PC
D
T
PF

PFO

PH

PJ

CORE

PK2

PK2B

PK2L

PL

PN

PN-B
PP_
T
PR_

PU

PW

RA

SM

TN

298



dn) uonong

dng 1e|4

PB

PC

PCD
PD
P |
PFO
CPH
PJ

CORE

PK2

PK2B
PK2L

PL
PN

PN-B

PP

PQ

PR
PU
PW
RA
SM
N

W\ A RSAERY Cup with Spring Fitting

Dimensions

(mm)
NAPFT/YS-1.5A NAPFT/YS-2A/3.5A NAPFT/YS-5A/6A
04
@4 @4
2 T W‘“ R @3 L
| | ol @ 2
N = © = § -~
- g BTy “P@;m — “ﬁ LI
M3X0.5 ‘ 4 M3X0.5 \ H M3xo5 | 4H
\ M6X0.75 | /8 M6X0.75 ‘ 8
n . f | ~
| o~ | ~ | s | |
T " ~N—F— 0
v &) i - 2 =) i A [a)
e IS o) [
» o 1 = s Elim
L < M3X0.5 E
M3X0.5 M3X0.5 w
- 212 N _gH q:{ 1.2 w oq 9
3 215 © QA S 212
R
Model number D | E |Woem Model number A | D | E |"am Model number A | D | E |V
NAPFT/YS-1.5A-3-0(-T/0)| 39 | 3 6 NAPFT/YS-2A-3- ] (-T/0) 2 39 3 NAPFT/YS-5A-3-[] (-T/0) 5 415 3
NAPFT/YS-1.5A-6-[1(-T/0)| 42 | 6 NAPFT/YS-2A-6- (] (-T/0) 42 6 6 NAPFT/YS-5A-6- (] (-T/0) 44.5 6 7
%[ in the table indicates the cup material. NAPFT/YS-3.5A-3-(-T/0O) 35 39 3 NAPFT/YS-6A-3- 0 (-T/0) 6 415 3
# The weight value is when NBR (Nitrile NAPFT/YS-3.5A-6-C1(-T/0)| ~ | 42 | 6 NAPFT/YS-6A-6- ] (-T/0) 45| 6
rubber) / without connector selected.
[ in the table indicates the cup material. [ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / % The weight value is when NBR (Nitrile rubber) /
without connector selected. without connector selected.
NAPFT/YS-8A NAPFT/YS-10A NAPFT/YS-15A
@4
23 aﬁk @5 26 @5 £6
© 2l :':@ @ o ﬁ @ ol
3 < — -
~N — | — i - i
% LI e S N .
M3X0.5 ‘ 4H | !
i 8H M5X0.8 | Width across flat 6 M5X0.8 | Width across flat 6
M6X0.75 | I
_Ad M8X0.75 ‘ 12H ‘ 12H
wn
~ | ~| N |
::’: it/ > o
wn ™M |
! D a M5X0.8 ol L Ol w
} Y i =) i a
oA ey o 2 5
~ o rw
M3X0.5 = =
~ ) Q2 2 02 104
1.2 8H 210 10H 215
e
Model number D | E Wi Model number D|E|F |G Wum Model number D|E|F |G |Yam
NAPFT/YS-8A-3-[1 (-T/O) | 42 | 3 7 NAPFT/YS-10A-3-[J (-T/0) |55.5| 3 2317 18 NAPFT/YS-15A-3-0] (-T/O) | 56 | 3 23| 17 18
NAPFT/YS-8A-6-[1 (-T/O) | 45 | 6 NAPFT/YS-10A-10- 1 (-T/0) |62.5| 10 185 NAPFT/YS-15A-10-C0 (-T/0) | 63 | 10 185
%[ in the table indicates the cup material. NAPFT/YS-10A-15-[J (-T/0)| 75 | 15 |30.5|24.5| 21 NAPFT/YS-15A-15-00 (-T/0) |75.5| 15 |30.5|24.5| 21

* The weight value is when

NBR (Nitrile

rubber) / without connector selected.

¥ [Jin the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) /
without connector selected.

Common Specifications

¥ [ in the table indicates the cup material.
3 The weight value is when NBR (Nitrile rubber) /
without connector selected.

Connector Weight(g)

Symbol Tube OD ¢ 4 Tube OD ¢ 6
T 0.5 15
(0} 3.0 4.0

299



NAPFTS-YS /Cup with Spring Fitting

Dimensions
(mm)
NAPFT/YS-20B NAPFT/YS-25
@5 @6
j&@ o
\;,i,g 3
M5X0.8 ‘ 12H
M14X1 |/ 19H
N /2
m::.: O w
fa) i 2 fa)
el - ‘\
M5X0.8 14H Ny w
[aa]
@3 =
M6X1 @25
Model number D E F G | Weam Model number D E F G | Weam
NAPFT/YS-20B-6-1 (-T/O) | 805 | 6 36 | 28 |55 NAPFT/YS-25-6- ] (-T/0) 82 6 6 | 28 |0
NAPFT/YS-20B-15- ] (-T/0) | 895 | 15 705 NAPFT/YS-25-15-1 (-T/0) | 91 15 71
NAPFT/YS-20B-30- ] (-T/0) | 1265| 30 | 58 | 50 | 955 NAPFT/YS-25-30- ] (-T/0) | 128 | 30 | 58 | 50 | 96

%[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector selected.

NAPFT/YS-30
@5 @6
— @ © B
[E— ,i S 3
Msx08 | 12H
M14X1 19H
R ——

i S o
o I
Msx08 & — 14H & ,h
o
@3 =
M6X1 @29
Model number D E F @ | BT
NAPFT/YS-30-6- (] (-T/O) 80 6 36 | 28 |07
NAPFT/YS-30-15-0 (-T/0) | 89 | 15 72
NAPFT/YS-30-30-0 (-T/0) | 126 | 30 | 58 | 50 | 97

»*[Jin the table indicates the cup material.

% The weight value is when NBR (Nitrile rubber) / without connector selected.

Common Specifications

%[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector selected.

NAPFT/YS-35

Msxo8 | 12H
M14X1 19H -
N/
Ln::.: v w
| — o
o I _
Msxos  ——p|M14H }
™
23 <
M6X1 @35
Model number D E F G
NAPFT/YS-35-6-[1 (-T/0) 82 6 ” g | 095
NAPFT/YS-35-15-] (-T/0) | 91 15 745
NAPFT/YS-35-30-0 (-T/0) | 128 | 30 58 | 50 | 995

[ in the table indicates the cup material.
¥ The weight value is when NBR (Nitrile rubber) / without connector
selected.

Connector Weight(g)

Symbol Tube OD ¢ 6
T 15
(0} 4.0

dn) uonong

dng 1e|4

1)

Suction Cup
PA
PB
PC

D

—

PF
PFO
PH
P)
CORE
PK2
PK2B
PK2L
PL
PN
PN-B

—

o

——

PU
PW
RA
SM
™

300



dn) uonong

dng 1e|4

1))

Suction Cup

PA

PB

PC
P
D
_er

PFO

PH

PJ

CORE

PK2

PK2B
PK2L

PL
PN

PN-B

PP

PQ

PR
PU
PW
RA
SM
N

301

W\ A RSAERY Cup with Spring Fitting

Dimensions

NAPFT/YS-40

= § ©
\;,i,g 3

M5X0.8 ‘ 12H

M14X]1 J o

| L ©
o i _
A e 14H N }
M5X0.8 S\
- 23
@40
M6X1
Model number D E E G Weight (g)

NAPFT/YS-40-6- O (-T/0)| 82 6 36 | 28 71
NAPFT/YS-40-15-[1(-T/0)| 91 15 76
NAPFT/YS-40-30-J(-T/O)| 128 | 30 58 50 101

%[ in the table indicates the cup material.
3 The weight value is when NBR (Nitrile rubber) / without
connector selected.

NAPFT/YS-60

(mm)
NAPFT/YS-50
Model number D E F G Weight (g)
NAPFT/YS-50-6- 0 (-T/O) 83 6 36 | 28 80
NAPFT/YS-50-15- 1 (-T/0) | 92 15 85
NAPFT/YS-50-30- ] (-T/0) | 129 | 30 58 50 110

%[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

NAPFT/YS-80

22H
Model number D E Weight (g) Model number D E Weight (g)
NAPFT/YS-60-10- J 1255 20 2825 NAPFT/YS-80-10- J 1275 20 3105
NAPFT/YS-60-30- [ 155.5 50 316.5 NAPFT/YS-80-30- [J 157.5 50 344.5
NAPFT/YS-60-50- [J 180.5 75 3435 NAPFT/YS-80-50- ] 182.5 75 3715

%[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

Common Specifications

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

Connector Weight(g)

Symbol Tube O.D ¢ 6
T 1.5
(0} 4.0




NAPFTS-YS /Cup with Spring Fitting

Dimensions
(mm)
NAPFT/YS-95 NAPFT/YS-120
26H
Rc1/4
M30X1.5 ©
| o
=) o
Rc1/4 y
a
w
o
~ ™M
<
New! o~
22H @10
Width across flat 65
M10X1.25 @93 @120
} 1 I 1
Model number D E Weight (g) Model number D E Weight (g)
NAPFT/YS-95-10- 128 20 350.5 NAPFT/YS-120-20- 157 35 1165
NAPFT/YS-95-30- [J 158 50 384.5 NAPFT/YS-120-50- [J 197 75 1246
NAPFT/YS-95-50- [] 182 75 4115 [ in the table indicates the cup material.

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

NAPFT/YS-150

26H
Rc1/4
36H
M30X1.5 -— o
o T o
= 74'7 e
Rc1/4 ‘ k-
w| a
A =
o < - ”
\_ Width across flat 65
I 1
Model number D E Weight (g)
NAPFT/YS-150-20- 1 164 35 1389
NAPFT/YS-150-50- [J 204 75 1470

*[Jin the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

Common Specifications

% The weight value is when NBR (Nitrile rubber) selected.

NAPFT/YS-200

Rc1/4

M30X1.5

1
60

o
o

J=iE .

r Width across flat 65

Model number D E Weight (g)
NAPFT/YS-200-20- [J 169 35 1755
NAPFT/YS-200-50- [J 209 75 1836

[ in the table indicates the cup material.
3 The weight value is when NBR (Nitrile rubber) selected.

Connector Weight(g)

Symbol Tube OD ¢ 6
T 15
(0} 4.0

dn) uonong

dng 1e|4

1)

Suction Cup

PA
PB
PC
PCD
PD
PF
PFO
PH
P)
CORE
PK2
PK2B
PK2L
PL
PN
PN-B
—

PR
PU
PW
RA
SM
TN

302



dn) uonong

dng 1e|4

PB

PC

PCD

PD

PFO

PH
PJ

CORE

PK2

PK2B
PK2L

PL
PN

PN-B

PP

PQ

PR
PU
PW
RA
SM
N

303

N\ s B ds 0 Cup with Non-rotation Spring Fitting

Consisting of fitting, setting screw, suction cup.

¢1.5~15

+ &
- -

;

k Attach the cup directly to the fitting /

How to Order

p

*

K Attach the cup to the fitting with setting screw j

¢20~50

Preventing
the workpiece
rotates with the

hexagonal shape
of axis stroke

*

NAPF T H — 2A-3 — N — T
® @ @ @
D Vacuum port S L
T Top @ Connector
Y Side Blank N/A
T Barb
@ Cup Size - Stroke (mm) o Pushiin
symool | Gupsze symoo | s symoa | G _
15A-3 $15-3 6A-3 $6-3 30-6 $30-6 ® Cup Rubber Material
15A-10 | ¢1.5-10 6A-10 $6-10 30-15 $30-15 Sl Material
15A-15 | ¢15-15 6A-15 $6-15 30-30 $30-30 N NBR(Nitrile rubber)
2A-3 62-3 8A-3 $8-3 35-6 $35-6 5 Siicone rubber
2A-10 $2-10 8A-10 $8-10 35-15 $35-15 0 Urethane rabbor
2A-15 $2-15 8A-15 $8-15 35-30 $35-30 r Fluorine rubber
3.5A-3 $35-3 10A-3 $10-3 40-6 $40-6 NE | Conductive NBR (Nitrile
3.5A-10 $3.5-10 10A-10 $10-10 40-15 $40-15 rubber)
35A-15 | ¢3515 10A-15 $10-15 40-30 $40-30 SE Conductive silicone
2X4A-3 | 2x4-3"" 15A-3 6153 50-6 $50-6  Please consult with s for other material.
2X4A-10 | 2Xx4-10" 15A-10 ¢15-10 50-15 ¢50-15
2X4A-15 | 2x4-15™°  15A-15 #1515 50-30 $50-30
35X7A-3 | 3.5X7-3"° 20B-6 $20-6  Note) Oval cup.
3.5X7A-10 | 35x7-10"°  20B-15 $20-15
3.5X7A-15 | 35X7-15""  20B-30 $20-30
5A-3 653 25-6 $25-6
5A-10 $5-10 25-15 $25-15
5A-15 $5-15 25-30 $25-30




PF

Spring Specifications

NAPFTH-YH /Cup with Non-rotation Spring Fitting

Cup size Unit $1.5~3.5X7 $5~15 $20~50
Stroke mm | 3 ‘ 10| 15| 3 ‘ 0] 15 6 ‘ 15 | 30

Spring load at O stroke 0.27 0.29 0.61 0.64 2.45 2.9

Spring load at full stroke 0.43 ‘ 0.82 | 083 | 077 ‘ 117 343 ‘ 49 | 588
Combination Table

Setting - Piping specifications
Model number Cup Ee— Fitting Without Barb Push-in
connector « Blank | connector T | connector:0

NAPFOH-1.5A-3-0] (-T/O) NAPFOH-1.5A-3-K (-T/O)
NAPFOH-1.5A-10-00 (-T/O) |PFG-1.5A-0] NAPFOH-15A-10K (-T/0)
NAPFOH-1.5A-15-0] (-T/0) NAPFOH-15A-15K (-T/0)
NAPFOH-2A-3-0] (-T/0) NAPFOH-1.5A-3K (-T/O)
NAPFOH-2A-10-0J (-T/O) |PFG-2A-0 NAPFOH-1.5A-10-K (-T/0)
NAPFOH-2A-15-0] (-T/O) NAPFOH-1.5A-15-K (-T/0)
NAPFOH-3.5A-3-0] (-T/O) NAPFOH-1.5A-3-K (-T/0)
NAPFOH-3.5A-10-0] (-T/O) |PFG-3.5A-0] NAPFOH-1.5A-10-K (-T/0) (“F":r;(glf) $4X2.5
NAPFOH-3.5A-15-0] (-T/O) NAPFOH-1.5A-15-K (-T/0)
NAPFOH-2X4A-3-0] (-T/0) NAPFOH-2X4A-3-K (-T/0)
NAPFOH-2X4A-10-0) (-T/0) |PFG-2X4A-0) NAPFOH-2X4A-10-K (-T/0)
NAPFOH-2X4A-15-0 (-T/0) NAPFOH-2X4A-15-K (-T/0)
NAPFOH-3.5X7A-3-0] (-T/0) NAPFOH-2X4A-3-K (-T/0)
NAPFOH-3.5X7A-10-0 (-T/0) |PFG-3.5X7A-0) NAPFOH-2X4A-10-K (-T/0)
NAPFOH-3.5X7A-15-01 (-T/0) Attagh Thel NAPFOH-2X4A-15-K (-T/0)
NAPFOH-5A-3-C] (-T/O) S iy | NAPFOH-5A-3K (-T/0)
NAPFOH-5A-10-C] (-T/0) |PFG-5A-C] NAPFOH-5A-10-K (-T/O)
NAPFOH-5A-15-0] (-T/0) NAPFOH-5A-15-K (-T/O)
NAPFOH-6A-3-01 (-T/0) NAPFOH-5A-3K (-T/O)
NAPFOH-6A-10-C] (-T/0) |PFG-6A-C] NAPFOH-5A-10-K (-T/O)
NAPFOH-6A-15-0] (-T/O) NAPFOH-5A-15-K (-T/0)
NAPFOH-8A-3-01 (-T/0) NAPFOH-5A-3-K (-T/O)
NAPFOH-8A-10-CJ (-T/O) |PFG-8A-0 NAPFOH-5A-10-K (-T/0)
NAPFOH-8A-15-0] (-T/0) NAPFOH-5A-15-K (-T/O)
NAPFOH-10A-3-0] (-T/0) NAPFOH-5A-3-K (-T/O)
NAPFOH-10A-10-00 (-T/0) |PFG-10A-0J NAPFOH-5A-10-K (-T/O)
NAPFOH-10A-15-0] (-T/O) NAPFOH-5A-15-K (-T/O)
NAPFOH-15A-3-0] (-T/0) NAPFOH-5A-3-K (-T/O)
NAPFOH-15A-10-0 (-T/O) |PFG-15A-0] NAPFOH-5A-10-K (-T/0)
NAPFOH-15A-15-0 (-T/O) NAPFOH-5A-15-K (-T/0)
NAPFOH-20B-6-0] (-T/O) NAPFOH-20B-6-K (-T/0)
NAPFOH-20B-15-0] (-T/O) |PFG-20B-C1 NAPFOH-20B-15-K (-T/0) ('\F"g;(glf) $6X4
NAPFOH-20B-30-0] (-T/O) NAPFOH-20B-30-K (-T/0)
NAPFOH-25-6-0 (-T/O) NAPFOH-20B-6-K (-T/O)
NAPFOH-25-15-00 (-T/0)  |PFG-25-CJ NAPFOH-20B-15-K (-T/0)
NAPFOH-25-30-0] (-T/O) NAPFOH-20B-30-K (-T/0)
NAPFOH-30-6-0 (-T/O) NAPFOH-20B-6-K (-T/0)
NAPFOH-30-15-00 (-T/0)  |PFG-30-0J TN-PF-25-M6 | NAPFOH-20B-15-K (-T/0)

NAPFOH-30-30-0] (-T/O) NAPFOH-20B-30-K (-T/0)

NAPFOH-35-6-0 (-T/0) NAPFOH-20B-6-K (-T/O)

NAPFOH-35-15-0] (-T/O) |PFG-35-] NAPFOH-20B-15-K (-T/0)

NAPFOH-35-30-0] (-T/O) NAPFOH-20B-30-K (-T/0)

NAPFOH-40-6-0 (-T/0) NAPFOH-20B-6-K (-T/0)

NAPFOH-40-15-00 (-T/O)  |PFG-40-0J NAPFOH-20B-15-K (-T/0)

NAPFOH-40-30-0] (-T/O) NAPFOH-20B-30-K (-T/0)

NAPFOH-50-6-0 (-T/0) NAPFOH-20B-6-K (-T/O)

NAPFOH-50-15-00 (-T/O)  |PFG-50-J TN-PF-50-M6 | NAPFOH-20B-15-K (-T/O)

NAPFOH-50-30-0] (-T/O) NAPFOH-20B-30-K (-T/0)

*[in the table indicates the cup material.
¥ Oin the table indicates the vacuum port (T or Y).

dn) uonong

dng 1e|4

02

Suction Cup
PA
PB
PC

PCD

PD

PFO
PH
PJ

CORE

PK2

PK2B

PK2L

PL
PN

PN-B

PP

PQ

304

PR
PU
PW
RA
SM
TN



dn) uonong

dng 1e|4

1))

Suction Cup

PA

PB

PC

PCD
PD
P |
PFO

PH

PJ

CORE

PK2

PK2B
PK2L

PL
PN

PN-B

PP

PQ

PR
PU
PW
RA
SM
N

305

\ A\ Az B ds 0 Cup with Non-rotation Spring Fitting

Dimensions
(mm)
NAPFT/YH-1.5A NAPFT/YH-2A
©
N~
M3X0.5
M8X0.75
m:‘i O [
M3xos “A o
\ —1
i “,fif, 8H = h
gT 212 - 212 o
@15 ° @2
Model number D | E|F| @G W‘a‘;g)ht Model number D | E|F | @G W‘(*;?ht
NAPFT/YH-1.5A3-0 (T/0) | 50 | 3 | .| . | 155 NAPFT/YH-2A-3- (] (-T/0) 50 | 3 | .|, | 155
NAPFT/YH-1.5A-10-01 (-T/0) | 57 | 10 17 NAPFT/YH-2A-10-0] (-T/0) | 57 | 10 17
NAPFT/YH-1.5A-15- (] (-T/O) | 69.5 | 15 | 305|245 20 NAPFT/YH-2A-15- (] (-T/0) |695| 15 |305 |245| 20

%[ in the table indicates the cup material.
3 The weight value is when NBR (Nitrile rubber) / without connector selected.

NAPFT/YH-3.5A

%[ in the table indicates the cup material.
3 The weight value is when NBR (Nitrile rubber) / without connector selected.

NAPFT/YH-2X4A

©
M~
M3X0.5
M8X0.75
mM3xos TF o
~
«n
o
o
Model number D|E|F |G W?;?ht Model number D|E|F |G W‘(*;?ht
NAPFT/YH-35A-3-0 (T/0) | 50 | 3 | . | | 155 NAPFT/YH-2X4A-3-0 (T/0) | 52 | 3 | | | 165
NAPFT/YH-3.5A-10- (1 (-T/0) | 57 | 10 17 NAPFT/YH-2X4A-10- ] (-T/0)| 59 | 10 17
NAPFT/YH-3.5A-15- ] (-T/O) | 69.5| 15 | 305 | 245| 20 NAPFT/YH-2X4A-15-0] (-T/0)| 71.5| 15 | 305 | 245| 20

¥ in the table indicates the cup material.

3 The weight value is when NBR (Nitrile rubber) / without connector selected.

Common Specifications

%[ in the table indicates the cup material.
3 The weight value is when NBR (Nitrile rubber) / without connector selected.

Connector Weight(g)

Symbol Tube OD ¢ 4
T 0.5
(0} 3.0




Dimensions

NAPFTH-YH /Cup with Non-rotation Spring Fitting

NAPFT/YH-3.5X7A

n
o
Model number D E F G W?igg)]ht
NAPFT/YH-3.5X7A-3-(] (-T/0) | 52 | 3 23 | 17 | 165
NAPFT/YH-3.5X7A-10-[1 (-T/0)| 59 | 10 17
NAPFT/YH-3.5X7A-15-00 (-T/0) | 71.5| 15 |30.5|245| 20

[ in the table indicates the cup material.

3% The weight value is when NBR (Nitrile rubber) / without connector selected.

NAPFT/YH-6A

o5 @6

0 A
:I =
RN o
M5X0.8 ‘ Width across flat 6
‘ 12H
7 ()}
o
L o

(mm)
NAPFT/YH-5A
5 26
= e
M5X0.8 ! Width across flat 6
| /12H
M8X0.75 - .
B —=
m:‘: Ol w
\ . o
ol LN 1o o \
Y wl
M5X0.8
214
g{ l @5 °
Model number D E E G W?ig%ht
NAPFT/YH-5A-3- (] (-T/O) 545| 3 23 17 18
NAPFT/YH-5A-10- (-T/O) 615 | 10 185
NAPFT/YH-5A-15- [ (-T/O) 74 15 |305|245| 215

¥ [Jin the table indicates the cup material.

% The weight value is when NBR (Nitrile rubber) / without connector selected.

NAPFT/YH-8A

0
O
Model number D|E|F |G W‘(*;Sht
NAPFT/YH-6A-3-0 (T/0) |545| 3 | | | 18
NAPFT/YH-6A-10-[1 (-T/0) |61.5| 10 185
NAPFT/YH-6A-15-0] (-T/O) | 74 | 15 | 305|245 215

%[ in the table indicates the cup material.

3 The weight value is when NBR (Nitrile rubber) / without connector selected.

Common Specifications

Model number D E F G Wt(egi,g)ht
NAPFT/YH-8A-3-[] (-T/O) 55| 3 | .|, | 18
NAPFT/YH-8A-10-(] (-T/0) | 62 | 10 185
NAPFT/YH-8A-15-[1 (-T/0) |745| 15 |305|245| 215

%[ in the table indicates the cup material.

3 The weight value is when NBR (Nitrile rubber) / without connector selected.

Connector Weight(qg)

dn) uonong

dng 1e|4

1)

Suction Cup

PA

PB

PC
D
—
Pr

PFO

PH

PJ

CORE
2
PK2B
PKaL
e

PN
N
—

PQ

PR

PU

PW

RA

SM

™

Symbol Tube OD ¢ 4 Tube O.D ¢ 6
T 0.5 15
(0} 3.0 4.0

306



dn) uonong

dng 1e|4

1))

Suction Cup

PA

PB

PC

PCD
PD
P |
PFO
CPH
PJ

CORE

PK2

PK2B
PK2L

PL
PN

PN-B

PP

PQ

PR
PU
PW
RA
SM
N

307

\ A\ Az B ds 0 Cup with Non-rotation Spring Fitting

Dimensions
(mm)
NAPFT/YH-10A NAPFT/YH-15A
@5 26 o5 @6
_,7,17,7,4 ;,7?7,7,4
M5X0.8 i Width across flat 6 M5X0.8 ‘ Width across flat 6
M8X0.75 ‘ 121 M8X0.75 \% 12H
o ﬂ\’\
L ™M
1 . o
m‘\ w
‘_7 wl
o
" Lle2 .
- @10
M5X0.8 M5X0.8
Model number D|E|F |G W‘(’;%’ht Model number D|E|F |G W‘(’;Q)’ht
NAPFT/YH-10A-3-0 (T/0) |555| 3 | | | 185 NAPFT/YH-15A3-0 (T/0) | 56 | 3 | | | 185
NAPFT/YH-10A-10-[J (-T/0) | 62.5| 10 19 NAPFT/YH-15A-10- 0] (-T/O) | 63 | 10 19
NAPFT/YH-10A-15-[] (-T/0) | 75 | 15 | 305 | 245| 22 NAPFT/YH-15A-15-[] (-T/0) | 755 | 15 | 305 | 245| 22

3 [ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector selected.

NAPFT/YH-20B

3 [ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector selected.

NAPFT/YH-25

M6X1
Model number D|E|F |G W?;?ht Model number D|E|F|oaG W‘zght
NAPFT/YH-20B6-0 (T/0) [805| 6 | __ | .| 64 NAPFT/YH-256-00 (T/0) | 82 | 6 | _ | | 645
NAPFT/YH-20B-15- (] (-T/0) | 895 15 69 NAPFT/YH-25-15- (] (-T/0) | 91 | 15 695
NAPFT/YH-20B-30- 01 (-T/0) |1265] 30 | 58 | 50 | 93 NAPFT/YH-25-30- (] (-T/0) | 128 | 30 | 58 | 50 | 935

3% [ in the table indicates the cup material.

3 The weight value is when NBR (Nitrile rubber) / without connector selected.

Common Specifications

¥ [ in the table indicates the cup material.
3 The weight value is when NBR (Nitrile rubber) / without connector selected.

Connector Weight(g)

Symbol Tube O.D ¢ 6
T 1.5
(0} 4.0




Dimensions

NAPFTH-YH /Cup with Non-rotation Spring Fitting

NAPFT/YH-30

@5 06

!
6 . B2

‘ 12H

M5X0.8

M6X1 ©29
Model number D | E| F| G W‘(*ght
NAPFT/YH-30-6- 1 (-T/O) 80| 6 [ | .| 655
NAPFT/YH-30-15-0] (T/0) | 89 | 15 705
NAPFT/YH-30-30-(] (-T/0) | 126 | 30 | 58 | 50 | 945

3% [ in the table indicates the cup material.
¥ The weight value is when NBR (Nitrile rubber) / without connector selected.

NAPFT/YH-40

Model number D | E|F |G W‘(*ght
NAPFT/YH-40-6- 0 (-T/O) 82| 6 | | .| 695
NAPFT/YH-40-15-0 (-T/0) | 91 | 15 745
NAPFT/YH-40-30-] (-T/0) | 128 | 30 | 58 | 50 | 985

3% [ in the table indicates the cup material.

3 The weight value is when NBR (Nitrile rubber) / without connector selected.

Common Specifications

(mm)
NAPFT/YH-35
8. B
M5X0.8 ‘ 12H
! 19H -
M14X1 — /7
j\ /
I 1/
M5X0.8 f N § w
| 111 O S =
o
.—7;& ol 14H = \
«” @3 =
235
Model number D E = G Wzisht
NAPFT/YH-35-6- [] (-T/O) 82 | 6 36 | 28 |68
NAPFT/YH-35-15- 0 (-T/O) 91 | 15 73
NAPFT/YH-35-30- (] (-T/0) 128 | 30 | 58 | 50 97

3% [ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector selected.

NAPFT/YH-50

o5 @6

M5X0.8 ‘ 12H
j 19H
M14X1 \ w
Agggﬁ\\i:; [447
m::L»E ‘ Yl
_M5X08 ‘ A
4! P (o)
o h—
S——=\ 14H ;\
| y W
T
<~ D3 1n
@50
Model number D E = G W?igg)ht
NAPFT/YH-50-6- I (-T/O) 8| 6 | | o 78
NAPFT/YH-50-15-0J (-T/0) | 92 | 15 83
NAPFT/YH-50-30-[] (-T/0) |129| 30 | 58 | 50 | 107

3% [ in the table indicates the cup material.
3 The weight value is when NBR (Nitrile rubber) / without connector selected.

Connector Weight(g)

Symbol Tube OD ¢ 6
T 15
(0} 4.0

dn) uonong

dng 1e|4

1)

Suction Cup

PA

PB

PC
D
—
Pr

PFO

PH

PJ

CORE
2
PK2B
PKaL
e

PN
N
—

PQ

PR

PU

PW

RA

SM

™

308



